48 58 68 78 8A 9A8 108 118 128 18 2R 3R A% 15 (A)
HNkEFT 6,305 6,562 6,585 7,269 6,766 33,487 6,697
185 252.2 273.4 263.4 279.6 260.2 266
NS A= 4,900 4,898 4,996 5,102 5,103 24,999 5,000
et S = RS 163.3 158.0 166.5 164.6 164.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 68
TR @I AR IR BN 95.5% 92.4% 97.4% 96.2% 96.3% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 39.8%
HEAEBE 1,126 1,033 1,229 1,224 1,255 5,867 1,173
—ixsEiR (BREIE 83.4% 74.1% 91.0% 87.7% 90.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 35.5%
EHTERT B 14.0 15.0 15.0 15.0 14.0 15
e i%«“%\%iﬁz 1,177 1,206 1,195 1,215 1,238 6,031 1,206
BREIE 98.1% 97.3% | 99.6% | 98.0% | 99.8% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 41.1%
EEHR Y TEBT BB IE L 2,597 2,659 2,572 2,663 2,610 13,101 2,620
BREIE 100.7% | 99.7% | 99.7% | 99.9% | 97.9% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 41.5%
MBZANEBEH 65 60 59 73 81 338 68
TBIER 11.0% 8.3% 8.8% 9.4% 9.6% 9.4%
Ed=g/R A 37 30 32 35 32 166 33
AEREEE T =17 3 1 3 3 7 17 3
MR 85 F1iT 10 4 14 15 25 68 14
NG E _EED 43 28 41 33 47 192 38
WNREE T80 17 15 27 34 32 125 25
— IR 1,077 1,011 1,011 1,127 1,128 5,354 1,071
CTHFAFE 312 334 399 402 336 1,783 357
MR 4L 175 151 192 199 188 905 181
BER (BEED) 57 65 61 91 79 353 71
RBER (LME) 68 60 61 55 55 299 60




